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According to >''9 do not query, for he says we assess the P

OVERVIEW

X 117pxn X"awn had a query; when we assess the 2vn payment, do we assess the
2vn of the particular individual, or do we assess according to what is generally
considered av» (at large).' The X7»3 continues that this query is not applicable
according to >"1 for he maintains that 7°»>w p13172 (and therefore not 07w Hw2).
The query is only according to ¥"7 who maintains ™% p°m73; does he
specifically mean P72 or perhaps he meant 07w Hwa. Our MooIN explains why
indeed the query is only according to ¥", and not according to *"1?*

mooIn explains that there is no X’¥2°X according to *" -
= PYT NNT INNR DTV YOI NTY NTYT v n9tn ULF2a ) LF)

since he derives his rule of j1°"»™% 17172 through a @' of 77w 77w from the

109 of "nN 77wa 9v°21 which refers to the field of the 151, Therefore there is no doubt

that we maintain w3 (of the p1°1) Paw 37, and not 29w Swa.*
$P1T Y0IYND NON NNNX KD ODWNPT TOINNAT 9INRPT NNT 9WAN NAPY 229D DaN

However according to ¥''1 it is possible that when he said that the 2v°» should
be assessed by the one who is paying, he is not (necessarily) coming to say that
1w 271772 (it has to be the N7y of the P i1 exclusively), but rather to exclude
that it is not the N7y of the pma.°

SUMMARY
There can be no doubt according to *" since he derives P17 20» from a ?105;
however ¥"1 when he said 07w Xp7 T°87 may have meant pr°17 *0wn>o.

"I the 271 of the individual is X»9v7 w3, then he can pay him from his n™ 21 (if Paw 17 29 Swa).

% The ®*y2'X according to > would be if the P17 N> N2°7 is X1PYT NPT, (or if the XnHYT N7y is better than the N7y
P1°17) and the mMn possesses ®n2y7 N>y P17 n>7°w3; which does he have to pay; pri1 n*7vs (for Pnw 17 19w3) or
Xn7y7 7o (for Pnw 1 oW Hwa).

? See 2,1 XM

*If not for the w"ra then *"7 would agree that 71> 72, The 7 specifically writes the w13 to inform us that it is
not so, but rather 12w p1°172. If the 7730 meant to teach us 7AW 17 07w w3, it should not have used a w"13 which
indicates that %W pri172.

5 According to ¥"1 there is no (extra) 71n°? that 11w P 1172; rather the P105 of 0w° 177w 2w n indicates NMuws3 that it
refers to the 0wnT 7877 2wn. In addition ¥ never stated explicitly P a7 2wn; rather he said oown Rp7 PR
Therefore we can query whether the 105 and ¥" meant that the 2>t cannot pay (only) with the 2v°» of the P11, but
must rather pay &»2v7 n>7°¥ (which is better than pr17 n°7°v; see 135 71"7 2,1 '01).
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THINKING IT OVER
Why is there no X*¥2°x according to *"1 in the case® where x1p *18?’

% See 2,1 »°v% R
7 See 121 (TXT) K@,
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